X° + X X2+ 2X + 1 x2 1

X° — X X°—2x + 1 X2+ X — 2
X° + 3X + 2 X° —3X + 2 X — X —2
X° +2X — 3 X° —2X — 3 X° + 5X + 4




X(X + 1) (X + 1)° (X +1)(x = 1)
X(X — 1) (X — 1) (X + 2)(x = 1)
(X + 2)(x + 1) (X — 2)(x — 1) (X = 2)(x + 1)
(X + 3)(x — 1) (x = 3)(x + 1) (X + 4)(x + 1)




X* + 2X X° + 4X + 4 x> — 4
X% — 2X X —4X + 4 X% + 3X
X% + 4x x> — 5X + 4 X% — 3X
X% — 4X X* + 3x — 4 X* —3X — 4




X(X + 2) (X + 2)° (X + 2)(X = 2)
X(X — 2) (X — 2)° X(X + 3)
X(X + 4) (X — 4)(x — 1) X(X — 3)
X(X — 4) (X + 4)(x — 1) (X — 4)(x + 1)




2X° + 2X 4%° + 4x + 1 4x° -1

2X° — 2X 4 - 4x + 1 2X° + 3x — 2
2x°+ 3x + 1 2x°—x -1 2X° —3x — 2
2x“—3x + 1 2X°+ x -1 2X* — 5X + 2




2X(X + 1)

(2x + 1)°

(2x +1)(2x - 1)

2X(X —1)

(2x — 1)*

(X +2)(2x-1)

(2x +1)(Xx + 1)

(x-1)(2x + 1)

(Xx-2)(2x + 1)

(2x-1)(x-1)

(x +1)(2x —-1)

(x-2)(2x-1)




3x° + 3x OX* + 6X + 1 Ox* -1

3x° — 3X Ox° — 6x + 1 3x° + 5X — 2
3+ 4x + 1 3x°—2x -1 3x* — 56X — 2
3X° —4x + 1 3x°+2x — 1 35— TX + 2




3X(X + 1)

(3X + 1)°

(3x+1)(3x-1)

3X(X —1)

(3x — 1)°

(x +2)(3x-1)

(3x+1)(x+1)

(x-1)(3x +1)

(x-2)(3x +1)

(3x-1)(x-1)

(x +1)(3x-1)

(X -2)(3x-1)




3X° + X OX* + 12X + 4 6X°—x —1
3X° — X OX* — 12X + 4 6X°+ X —1
3%+ TX + 2 3X° =X —2 3X° — 4X — 4
3X° — 65X + 2 32+ X -2 3x°—10x + 3




X(3X + 1)

(3X + 2)°

(3x + 1)(2x - 1)

X(3x — 1)

(3X — 2)°

(2x +1)(3x-1)

(3x +1)(x + 2)

(x-1)(3x + 2)

(X —2)(3x + 2)

(3x-2)(x-1)

(X +1)(3X - 2)

(X —3)(3x—-1)




4% + 12X + 9 OX* + 24X + 16 OX* — 4
4% — 12X + 9 OX* — 24X + 16 4x° - 9

2X° + 9X + 9 6x° + 13X + 6 4x° — 25
2x° + 13x + 21 4%° + 8X + 3 8X° + 34x + 21




(2x + 3)° (3X + 4)° (3x — 2)(3x + 2)
(2x — 3)° (3X — 4)? (2x — 3)(2x + 3)
(2x + 3)(X + 3) (3x +2)(2x +3) | | (2x-=5)(2x + 5)

(X +3)(2x +7)

(2x + 1)(2x + 3)

(4x + 3)(2x + 7)




15x° + 11x+2 || 10x*+11x -6 14x° + X — 3

10X+ 23x + 12 || 4x*+4x-15 6x°+ 13x — 8
3x° + 20X + 12 4x° - 31x — 8 12x* — 28x — 5
4%+ 11X + 6 9%° + 9x — 10 9%’ + 5x — 4




(3x + 1)(5x + 2)

(bx — 2)(2x + 3)

(2x + 1)(7x — 3)

(5x + 4)(2x + 3)

(2x — 3)(2x + 5)

(3x + 8)(2x — 1)

(3x + 2)(X + 6)

(4x + 1)(Xx — 8)

(6x + 1)(2x - 5)

(4x + 3)(X + 2)

(3 + 5)(3% — 2)

(x + 1)(9x - 4)




8X° — 22X + 5 8x° + 13x — 6 10x* + 13x — 9
10x* — 21X + 9 6X° + 35X — 6 Ox* — 16
12x* —28x + 15 || 6x*—11x—35 4x* - 11x — 15
10x*—27x+ 14 || 6x°—5x—-21 24x° + 2x — 15




(4x — 1)(2x — 5)

(8X — 3)(X + 2)

(5x + 9)(2x — 1)

(5x — 3)(2x — 3)

(6x —1)(X + 6)

(3x + 4)(3x —4)

(6X — 5)(2x — 3)

(3X + 5)(2X — 7)

(x + 1)(4x — 15)

(10x — 7)(x — 2)

(2x + 3)(3x—=7)

(4x — 3)(6X + 5)




